	Задачи к билетам по геометрии

	1. [image: image1.png]B tpeyrommke ABC yroa C pasen 90°,
AB =14, AC = 7. Haitaure cos A





	2. [image: image2.png]B tpeyrommke ABC yroa C pasen 90°,
AB =5v2, AC = 5. Haijzurre tg A.






	3. [image: image3.png]B rpeyrommixe ABC yroa C pasen 90°,
BC =3, AB = 5. Haiizurre sin B.






	4.[image: image4.png]B rpeyrommixe ABC yroa C pasen 90°,
AB =311, BC = 15. Haiiurre tg A.






	5.[image: image5.png]B rpeyrommke ABC yroa C pasen 90°,
AB =25, BC = 7. Haiizurre cos A.






	6. [image: image6.png]B rpeyrommixe ABC yroa C pasen 90°,
AB =18, BC = 9. Haitzurre sin A.





	7. [image: image7.png]B tpeyrommke ABC yroa C pasen 90°,
AC =5, BC = 2. Haiizure tg A.






	8. [image: image8.png]B rpeyromimke ABC yron C pasen 90°,
AC =3, BC = 6V/6. Haitzurre cos A,





	9. [image: image9.png]B rpeyromimke ABC yron C pasen 90°,
AC =291, BC = 6. Haiiurre sin A.






	10. [image: image10.png]oavimke ABC yron C pasen 90°,
tg A= 0.5. Haiturre AC.






	11. [image: image11.png]B rpeyromumxe ABC yroa C pasen 90°,
3V10

tgd = 232, BC =12, Hattue AB.





	12. [image: image12.png]B rpeyrommke ABC yron C pasen 90°,
B =15, cos 4 = 23 Haune Ac.






	13. [image: image13.png]ke ABC yron C pasen 90°,
BC = 1. Haiture AB.






	14. [image: image14.png]B tpeyrommke ABC yroa C pasen 90°,

BC =13,5,sin A 91;181. Haitymre AC.






	15. [image: image15.png]mxe ABC yron C pasen 90°,
nA = 0,2. Haiturre AB.





	16. [image: image16.png]B tpeyrommke ABC yroa C pasen 90°,
AC =10, tg A = 0,6. Haiizurre BC.





	17. [image: image17.png]B rpeyrommxe ABC yroa C pasen 90°,
65
AC =16, tgA = . Haiizurre AB.
s 465 .






	18. [image: image18.png]B peyromimre ABC yron € pasen 90°,
AC =45, cos A== Hm‘unre BC.





	19. [image: image19.png]B rpeyromimke ABC yron C pasen 90°,
AC =3, cos A = 0,75. Haiiaure AB.
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AC =2, sina= Y1

ron € pasen 90°,
Haiturre BC.






	21. [image: image21.png]B rpeyromsmnke ABC yron C pasen 90°,
sin A = 0,1, AC = 6v/11. Haiture AB.





	22. [image: image22.png]B rpeyrommike ABC yron C pasen 90°,

AB =28, tgA = ir Hattymre BC.






	23. [image: image23.png]B rpeyrommixe ABC yroa C pasen 90°,
12
AB =18, tgA = —. Haiizure AC.





	24. [image: image24.png]B rpeyrommxe ABC yroa C pasen 90°,
20
AB =29, cos A = I Haitumre BC.






	25. [image: image25.png]B rpeyrommke ABC yroa C pasen 90°,
4
AB =25, cos A = . Haituire BC.





	26. [image: image26.png]B tpeyrommke ABC yroa C pasen 90°,
AB = 20, cos A = 0,6. Haiure AC.






	27. [image: image27.png]B rpeyrommixe ABC yroa C pasen 90°,
Haiturre AC.
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